LR ety Nt
WL R R AbRERIE A ES  0.201 V, Egly p =120 Vo HHED o, PAK PICL HIK;
3 Pt(s) +12Cl (aq) + 2 NOs (aq) + 8H'(aq) — 3PtCls> + 2 NO(g) + 4 H.0(])
238 WAN S R BAEAMEEAR L R EI S RL T A, R R S AR FEt, B Y ERIAT ST R R, AR
IS ERIBR IR 25 A1 BT RE S
(1) Sn(s) + Pb*(aq) — Sn*(aq) + Pb(s)
(2) Cu*'(aq) +2I'(aq) — Cu(s) +Ix(s)
(3) 4 NOs (aq) +4 H'(aq) — 3 0y(g) +4 NO (g) + 2 H,O(l)
(4) Os(g) + Cl'(aq) — OCl (aq) + O(g)
W3 NAIHEMAHEEE 8 1.250 V, HEHR[AgE2/D?
Zn(s) | Zn*(1.00 M) || Ag*(x M) | Ag(s)
48 TR EERZ/D? TH Mgs(PO.)2 K, =1.0X10%
Mg(s) | Mg? (HIF1 Mgs(POs),) || Mg?*(0.125 M) | Mg(s)
058 At —— R T, ASEEIERNTNR, EE MnO, Ml KOH WA IENIER, HAEFTYAE
IKIBFIF ) FERTE, A MnO, #0459 Mn(OH)s, 1% M ISR -0.20 V, FAfFSFRRER
M, FHEEHRERS,
W6l FECHRIMEBEARIES, RECHRETIOEEN Ag, fE—XNED, 1412s 54T 1.206 g
Ag, BEEECIHRENZ/D? PR Z/D?
587 3 Q1N ERAN S A S5 FEL
V#(aq) + VO*(aq) + 2H'(aq) — 2 V3*(aq) + H,O(l) ES, =0.616 V
V¥(aq) + Ag'(aq) + H,O(l) — VO*(aq) + 2H"(aq) + Ag(s) ES, =0.439V
R REIETE Vi (aq) +e — V2 (aq)RIHEEE,
08 4N FEMIAYEHECH 0.0860 V, ARA[CI 1z /b?
Ag(s) | Ag'(tfn Agl) || Ag' (A AgCl), Cl (x M) | Ag(s)
B9 Ag F—PEESRIFEZMNENESHRIED M R, ik Ag FIEEIE N, B 1.050 g 50 fH
FRIAfR, FHKARRER 500.0 mL, 4 Ag AR ATERT, NS IXAENR S ES MRS ZEN 0.503 V,
Ag W& EURZ/D?
5510 /8 100.0 mL 9 1.00 M NHs #% AgBr 11, KRR NXIEHRS, @I HAR R A R SR S
o HREMAIE e, i RMIERHRIE AR ?
51138 UERHN THRFRIESR M, It BETR R SR N

[
B - B(ry) = (1, -1y &S EQ)

HAET)RT,NR RS, BARRQREE, T MHdEbriErt, 50.0 °C RATHEBIEN 0.394 V, i
25.0 °C FHYHMIEHAN 0.370 V, HITHERMIQ, AHOMASO, DIRMAMNEE FHKC, GF: #MoEdEw
HER)

Cu(s) | Cu*(aq) || Fe’*(aq), Fe*(aq) | Pt(s)
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W12 8 AGOMERBIBTLEHEN, 2B, XELREREMECHEIREMN, ey, G.N.
Lewis t8 7 —Mik 1SS BIRERBRISLI T E, BOTEW NS B AR S 2 RN SR, g —Mm]
ERAF, NI EmRIERF, Na(Hg, 0.206%)FRR 0.206 wt% Na 1ERH AR,

1. Na(s) | Na*(Zfzh) | Na(Hg, 0.206%) E.o =0.8453V
RE Na(s)S7KBIZUR N, HEURTF RSN, R EFATAT PAAS :

2. Na(Hg, 0.206%) | Na*(IM) || H'(IM) | Ha(g, 1 bar)  E.y = 1.8673V
51 AT M R, HHES,
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